Name: Review for Test

CC Geometry Dilations and Similarity
1. In right triangle ABC shown in the diagram below, altitude 5L is drawn to hypotenuse A,
D= 12, and 40 = 3. What is the length of 4B? N
3

1) Sﬁ D

2) 6

3) EAJ{E 12 5

4) 9

C

2. In the diagram below of A4CT, D is the midpoint of 4, O is the midpoint of 47, and G is the midpoint
of oT. If AT =10, 4T =18, and CT = 22, what is the perimeter of parallelogram CDOG?

1) 21 A

2) 25

3) 32 D R

4) 40 /\/\
C G T

3. A triangle has sides whose lengths are 5, 12, and 13. A similar triangle could have sides with lengths of

1) 3,4,and5

2) 6,8,and 10
3) 7,24,and 25
4) 10, 24, and 26

4. In the diagram below, AAEC ~ ARST. Which statement is not true?

1) Ld=rR ¢

2) 4B _BC
RS ST

3) AB &T

B RS A B R S

4) AB+BC+AC  AB

RS+ ST+ RT RS



5. Inthe diagram below, A4B5Z ~ ADEF, If AR =16 and AC = &, which statement will justify similarity by
SAS?

1) DE=9,DF=12,and L4 = 2D 5 5

) DE=% DF=10,and Z4= D 5

3) DE=36,DF=64, and LO= £LF /\

4) DE=15 DF=20,and £C= ZF A 8 C D F

6. In the diagram below, AABC ~ ADEC, If AC= 12, DO =7, DF =5, and the perimeter of A48 is 30,

what is the perimeter of /. D22C?
A

1) 125

2) 14.0 D
3) 14.8

4) 175

B C E

7. Delroy’s sailboat has two sails that are similar triangles. The larger sail has sides of 10 feet, 24 feet,
and 26 feet. If the shortest side of the smaller sail measures 6 feet, what is the length of the longest side of
the smaller sail?

1) 1441t
2) 15.6 ft
3) 361t
4) 433 ft

8. In the diagram below, CA is an altitude of right triangle PQR, FAf = 8, and &A= 18. What is the length of
A7 Q

1) 20
2) 16

3) 12

4) 10 P 8 M 18 R



—_— —_— R
9. In the diagram below of AACT, BE || AT, If CB =3, &4 = 10, and CF = 6, what is the length of 27?2

1) 5
2) 14 B /\E
3) 20
4) 26

A T

10. A three-inch line segment is dilated by a scale factor of 6 and centered at its midpoint. What is the
length of its image?

1) 9inches
2) 2inches

3) 15inches
4) 18 inches

11. In the diagram below of right triangle ACB, altitude C'D intersects 48 at D. If AZ= 3 and DB = 4,
find the length of <2 in simplest radical form.

C

12. In the diagram of AABC shown below, DZ || BT If 4B = 10, AD = &, and AE = 12, what is the length of
EC?




13. In the diagram below of AABC, CD4, CEE, DE I ﬂ_B, DE=4 AB=10,C0D=x and 24 =x+3. What is
the value of x?

14. To find the distance across a pond from point B to point C, a surveyor drew the diagram below. The
measurements he made are indicated on his diagram. Use the surveyor's information to determine and state
the distance from point B to point C, to the nearest yard.

15. In right triangle FGH shown below, m./G&# = 90, altitude ZJ is drawn to #c¥, 77 = 16, and 53 = 15.
Determine and state the length of 7#. Determine and state the length of &5 .
G

15
16




16. In the diagram of A 45 below, 45 = 10, BZ= 14, and A4 = 16. Find the perimeter of the triangle
formed by connecting the midpoints of the sides of A A5,

16

17. Triangle ABC and triangle ADE are graphed on the set of axes below. Describe a transformation that
maps triangle ABC onto triangle ADE. Explain why this transformation makes triangle ADE similar to

triangle ABC.
y

18. In A CED as shown below, points A and B are located on sides ¢ and ED, respectively. Line segment
AB is drawn such that AF = 3.75, AC=5 FE=4.5 and ED =6, Explain why 4F is parallel to <D,




